IlepeyeHb OCHOBHBIX JIeTajeil M Y3J10B MAITMHBI 3JIeKTPUYECKOi
nuindopaabHoii yraosoit MINY-1,211-01

220 B ~ 50 'y, 1200 Bt
Mo 2500-7000 06/mun
@ 125 Mm $2-30 Mun

Rty
GRS

BunT (camopes) 4,5x13 2 [Taii0a npyxuHHAs 1
14 | Ilomypyuka neBast 1 41 | Konsio cronopHoe 9 1
15 | Kongencarop 250V 0,25uF 1 42 | lecrepns Z9 1
16 | Brixmouatens FA2-5/1 SA 1 43 | Koneco 3ybuaroe Z37 1
250V 44 | Buar M4x10 3
17 | IInara B cbope 1 45 | Iaitba 4 npyxuHHAA 3
18 | Hakoneunuk 4 2 46 | IlnacTHHA HOMIMITHHKA 1
19 | Opoccens 2 47 | Hoaummnuuk 6002 Z 1
20 | Kpsmka jgeBas 1 (15x32x9)
21 | Kopmyc sekTpoaBurarens 1 48 | Illmonka cerm. (4x5x12) 1
22 | Crarop 1 49 | HInusmens 1
Vrepwaio 23 | BuHT (camopes) 3,5x64 f 50 KpLimKa peaykropa 1
Hauansmik OTO 24 | Brynxa pe3uHOBas 51 | llaiiba 4 mpyxuHHAs 4
Kosnos TLA. 25 | Juadparma 1 52 | Bunr M4x14 4
<y 20 - 26 | Iommunuuk 607 ZZ 1 53 | KoKyX 3aIUTHBIH MO 1
o (7x19x6) JucK &125mm
27 | Sxops 1 54 | Ilnactuna 1
Mos. HaumeHoBaHue Ko I — 55 | Illaiiba cnermanbHas 1
1 BunT (camopes) 4x15 3 29 | Bunt M4x10 (niorait) 3 56 | Bonr M5x14 1
2 Monypyvka npapas 1 30 | Illaiiba - genecTok 3 57 | llaii6a 4 npyxuHHas 3
3 | Bunr (camopes) 4x24 2 31 | InacTHHA NOAMIMITHUKA 1 58 | Bunr M4x10 3
4 | Bunr (camopes) 4,5x13 2 32 | Hommmnauk 6000 ZZ 1 59 | Brynka 1
5 Kpsbimika mpasast 1 (10x26x8) 60 | T'aiika cren. M 14 1
6 | lerkonepxarens 2 33 | Bunt (camopes) 4x29 4
6.1 | Ilerkonepsxarens 2 34 | Kopmyc penykropa 1
6.2 | Illerkonmepxarenb 2 35 | Knomka ¢ukcaropa 1 COrIacoBaHo
7 Bunt (camopes) 3x8 4 36 | Ilpyxuna 1 Virkenep Merpos B.T
8 Ilerka (6x9x17,5) 2 (11,7x12x0,8) ) ’
Ucnonuurens:
9 Kitapuiia BeIKITIOUATEIIS 1 37 | laii6a cronopuas J6 1 ikere Camconos JL1
10 | TpyOxa 3amuTHas 1 38 | Homuunnuuk 607 ZZ 1 P o
11 | Dnexrpomnyp 2x0,75 mm? 1 (7x19x6)
L=2m 39 | T'aiika M14x1,5 1
12 | IInacTuHa IPHKUMHAS 1 (11eBast pe3nda)




